Problem:

I have a 2 ft piece of wire to insert into a magnetic mount antenna.  I want the antenna to be resonant at 146.7 MHz (2 Meter Band).  How long should I cut the wire to be ¼ wavelength at 146.7 MHz?  (Assume the magnetic mount’s size is negligible)  Give the answer either in feet or meters.
Use the Equation:   L = c / F

Where:

L = Wavelength

c = Speed of Light = 300, 000, 000 meters per second
F = Frequency

The velocity factor for the wire is 0.95

Perform the calculation here

The speed will be less than in free space resulting in the following:

One full wavelength (L)

L = (300000000 * 0.95) meters / 146700000 Hz
L = 285000000meters / 146700000 Hz
L = 1.943 meters

I want ¼ wavelength resulting in:

¼ L = 1.943 meters / 4

Answer:  ¼ L = 0.486 meters

To get the answer in inches:

¼ L = 0.486 meters * (1 inch / 0.0254 meters)

Answer:  ¼ L = 19.13 inches

Or in Feet:

¼ L = 19.13 inches * (feet 1 / 12 inches)

Answer:  ¼ L = 1.6 feet

